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M.Com. (Final) Examination
MANAGERIAL ECONOMICS
Paper : MCOM-06

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (i) Define Managerial Economics.
T ST I AR it
(i) What do you mean by price elasticity of
demand ?
HIT T HIFT A G IR T AR T 2
(i11) Why demand curve slopes upward to the
right ?
T 9% It IR A FW I3AT g okl ¥ 2
(iv) What is your understanding about imputed
costs ?
ST @l & IR § ATkt o1 99 § 2
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(v) Distinguish between short-term and long-term Section—B 4x8=32

production function.
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(Short Answer Type Questions)

exceed 200 words. Each question carries 8 marks.
(vi) Price rigidity situation is found in which 1
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(vii) What is Disposable Personal Income (DPI) ?
T A AR S F T ?

(viii) Identify the degree of price elasticity of . .
2. Throw light on the key characteristics of
demand of the following goods :

managerial economics.
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(3791) T HIT of suitable illustrations and diagrams.
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4. Distinguish between prime costs and supplementary 8. What are the main difficulties in computing

costs with an example and diagram. national income ? Explain.
CTRR W Y@fas e ¥ Y™ arTdl 8 [ T @ 1 TOAN H B JeT HieA § 2 TR
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5. How 1is price of a commodity determined ? 9. Explain the consumption function propounded by
Support your answer with appropriate illustration the Lord Keynes.
and diagram. e &9 g Afquied ST HeH Sl THEET |
T 9% h HEd w9 T S & 2 3T W HT Section-C 2x16=32
gfte i SugR SeTeRVl SR Yefes yRd hifu (Long Answer Type Questions)

6. How a monopolistic firm attains equilibrium in Note .— Answer any fwo questions. You have to delimit
short-run ? Give diagrams to explain. your each answer maximum up to 500 words.
T THITHHRHS FH Aol § $Hd J 9w il Each question carries 16 marks.
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7. Make out the difference between gross profit and et ST w9
net profit. frder - forell @ Wl & S ST ST ST W T TR
el Y AR | A9 H FA<R TR0 500 vr=5i § 9 wifST | Y&k 999 16 3% 1 )
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10. Explain with suitable illustrations and diagrams, 13. “A competitive firm is a price-taker, but not a

the various methods of measuring price elasticity price-maker.” Elucidate this statement with the help

of demand. of a diagram.
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11. Explain the ‘law of variable proportions’ with the FI

help of suitable illustration and diagram. Also

explain the reasons of its application.

‘gfadeiter T & |’ # SugE SeeRu 3R
TEfes &1 FeEar 9 9HeEt| 39e fFAnta 81 &
HROT T ff T HifT |

12. Examine critically the employment theory of

Keynes.
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